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Part A
Answer any ten questions.

Each question carries 2 marks.

1. IfA={a,b,c,d} and B={c,d,e, f} thenfind AUBand AN B
2. IfA={2,4,6,8} and B ={2,6,8,10,12} then find AU Band AN B

3.  Divide 24 in the ratio 5:1

4, If BX29_ 2

tg 3’ show that p o< q ?

5. How many differt 6 digits numbers can be formed with the digits 3,5,6,7,8,9 ?

6. In how many ways can 4 letters be mailed if there are 3 mail boxes ?

7. Change in to logarithm form 63 =216.
-1 —4
8. 1|2 +2A= °| find A
2 0 6 8

9. ComputeAzifAI[O ’},12:1

1 0
10. 2 3 5
Evaluate | 6 6 10
10 9 15

11. Define singular matrix.
12. IfA=[1 2 ] , B=[ 3 ] andX=[x} , then find X such that AX=B
3 4 19 Y
(10x2=20)

| b H = |
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Part B
Answer any six questions.

Each question carries 5 marks.

13. Represent AN B and A’ using Venn diagram

14. IfA=1{1,2,3,},B={2,3,4,5},C = {2,4,6,8} find
) (AnB)UC
2)(A-B)uUC

15. Compute the rational number corresponding to 1.375375........ ?

16. If x varies directly as y and inversely as z , find the relation between x ,y and z ,if x=15, y=8 and z
=2.Also find x when y =6 and z=3?

17. How many different words can be formed with the letters of the word HARYANA ? in how many
of these H and N together ?

18.
In a mercantile firm 4 posts fall vacant and 35 candidates apply for the posts . In how many ways a
selection be made (i) if one particular candidate is always included. (ii) if one particular candidate
is always excluded .
19. 0 1 -1
Show that the matrix B= | -1 0 1 | is a skew symmetric matrix
1 -1 0
20. a b c
Find the minor and cofactor of the elements a,e and i of the matrix [d e f
g h i

21. Find the adjoint of the matrices and verify that A(adj A)=|A|l

1 4 5
A=13 2 2
0 1 -3

(6x5=30)
Part C
Answer any two questions.

Each question carries 15 marks.

22. Inasurvey of 1000 households, each households has atleast one of washing machines, vaccum
cleaners and refrigerator, 650 has no refrigerator, 300 had no vaccum cleaner and 400 had no
washing machine. 320 had both vaccum cleaner and washing machine, 250 had both refrigerator
and vaccum cleaner. 150 had both refrigerator and washing machine.

How many had all the three? How many had only vaccum cleaner?
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23. (a) 2x+3y: x-2y =4:3, find xz-i-y2 . x2- y2
(b) A can do a piece of work in 10 days while B can do the same piece of work in 15 days. How

much time will it take for both of them to do the work together ?

24 (1) IfA= [a b} ,I=[1 0] show that A2 - (a+d) A = (be- ad )]
c d 0 1
) If P= {3 (1)],andQ=[0

(aA +bB) (aA - bB ) = (a>+b%) A

1
] show that
0

5. —4 4 4
Find the inverse of the matrix | —7 1 3

5 -3 -1
(2x15=30)
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